—. (124) WA BREMIREEFHANEL, HEL0<P(A)<1,0<P(B)<
1, B P(B|A) > P (B), RHB U TN ERXREIERH, FHEHARHAER.
(y P(B°|4°) > P(B); :
(2) P(4°|B°) > P(A°);
(3) P(B|A°) > P(B);
(4) P(A|B) > P(A).



(16 5) —AETFTHEGHRSTHNL,2, ..., 10 BK/HEER/NER, DA E A
ERERBEYEE — B, CRE S, K% — E#TEHE 10 MBS/
BRAEIE. UL X B SH0 2 SRS, LY BRSE 1, 3, 5 —HBEHE AR
SRR X Y FIREERSA.



=. (16%4) HHEEM 15, 2FET 10 8, BAT—HA TR B8 /4, A
SRAEMIMEZRAR R, SRAEE WXt T FrhEE—MEER. H—MAFHRAFHREHN 25
HEET, WERGE IR, HiZ ARG AR, K R LRI,



P4, (20 4%) TEIXIE (0,1) EBEVLHLESRE —A S X, RELL1/3 BMEREXE (X,1) L
BEHLIERE— AN Y, BLL 2/3 MIRERIEX A (0, X) LREHLIERE— A Y.
(1) 3R (X,Y) FIBEA 3R % R bR 2
(2) 3RY PR32 PRAE 2R 2



. (1841) W ¢(z) Tl ®(z) 43 5HIZRINFRUE IE A 5340 HIAE 2R 55 BE R BUFA 40 A0 BR 48, XHE
BEH N yeR, iCEHK
f(z) =2¢(x)®(\z), zeR,
9(z,9) = 2¢(2)(y) 2Nz + py), (z,y) € R
(1) WEBA: f(z) RNFEABEVIER S KL 25 B R 2.
(2) UEBH: g(z,y) JFEA Z4EFEV ) 2 A HEEE 25 B bR 45 N
(3) EHHENA R X HEREEREBONI L X f(z), K| X | FIBEZRE R



e (184y) WBENIASE X R Y MEMGL, HMBASECH 1 B,
(1) MMEBEFEE c > 0, K cX B
(2) BU = max{X,Y}, RIEAU 5 X + %Y R34
(3) R TEBOM T MR TR MRS (2) o MO T I 4 T AR RE



[ 11 (18 %)

IFEZBEY PREATHHERELI #AF. BIXT—ANTEHEZTHK
MEEZ 0.1, — /"I~ 15 89 3% F it iE a9 L 2 0.6. 1B AT R A —A~)>
3z (TA W) a9er 2z iz 13 F (FT1E6948E%) < 0.8.

(1) ¥F—RAFRELITR, RARZXAR (BFDPFEWRKTIR) ,

B AT Rt N 32 W 9 7T 45 B ALk e T2 27
(2) HH kAR ELATR, KAMBEAKR (BFDFEW XIRKTIR) ,
LB ] BB AT R AT T2 W 89 5T 43 B A 5 X e fT el & ?

(3) L@ AL T A+ 243527



[# 2] (16 %)

B 2T AT A AL T 0 Ak, 24 e e SR i 4% B A B 0 PO R 4% R A
F e L, AP 24 P B B T i AR AR R A R Ak 2yt 4T, B R
MAGMEEINA p, 0 < p< 1, MRALTF MIEERS V2



[ 3] (16 %)

KHMEE X ~ U(0,1), Z~ U(0,8) #= Y ~ U(B,1), ¥ B €(0,1)
A—A%%, BX,Y, ZMEmL, ZL—AN#HAOENEE

W=IX<B)Z+I(X>RB)Y,
Lo (A ATEMAGTHRES. ER W ~ U(O,1).

IR 3TEE X € (0,1), A1 SN XA EEE X, Y, Z 65k
Ty

P(W<x) = P(W<xX<B)B+P(W<xIX>B)1-p)
= P(Z<x|X<B)B+P(Y<xIX>B)(1-p)

XNAB (x=8)+ 4 _ o

Epr T - ) = x,

B W ~ U(0,1). §



(5] (18 %)
B (X,Y) B A BE T B R A

f(x,y) = x+y)e>Y, x>0, y>0,
Y 0 te.
(1) IX5YRATHR?
(2 RKW=X+YHAZ=X+2Y hBRSMEFT R, Hi5h W
FRAAT 2 5 H5 .
(B) BRW=w, KZ&O5HBEFR, A HEZFERIHN LGS
.






[#6] (16 %)
i {Xn,n > 0} A—ARZR A M ZEF T, £ B 69 oA kA
F(x), 3t R 6 55 By S f(x). 2

N = min{n: X, > Xo,n > 1}.
(1) K N &9 #.
(2) HEBA Xy G9BEEZ F K HH

g(x) = —f(x)In[l — F(x)], xeR.



[# 6] (16 %) |
& {Xo,n > 0} A—ANRZE AN E ST, AP b9 5 A Ky B
F(x), 3t 695 R B 3 A f(x). 1T

N = min{n: X, > Xo,n > 1}.
(1) KNty H 4.
(2) HEB Xy #9BERF E B EH

g(x) = —f(x)In[l — F(x)], xeR.



